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5.3, pg. 234 # 6, 26

In Exercises 55 — 58, find F'{x). - 0
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5.3, pg. 234 # 6, 26

In Exercises 5 — 12, write out each term of the N o L :;i' -l otz 3
summation and cumputethe sum
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Theorem 5.3. 1 states Use this fact, along with other parts of Theorem5.3.1, to eval-
uate the summations given in Exercises 25 — 28.
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5.4, pg. 246 # 6, 20, 22, 29, 42, 55, 56
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In Exercises 5 — 28, evaluate the definite integral.
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29. Explain why:

1
(a) x" dx = 0, when n is a positive, odd integer

-1

1 1
(b) X dx = Ef X" dx when n is a positive, even integer.
—1 a

In Exercises 41 — 46, a velocity function of an object moving
along a straight line is given. Find the displacement of the

object over the given time interval.
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7. 1 , pg 360 24, In Exercises 21 — 26, find the area of the enclosed region in two ways:
1. by treating the boundaries as functions of x, and - . by treating the boundaries as functions of y.
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